
 

http://jnrm.srbiau.ac.ir

 

X 

 

 

* 

 

 

 

                  

  .     –       

    .         

                  

            – 

 

                  

.                

.

 

 
*.        :                                                                                                              najafi141@gmail.com Email: 

                                    

های نوین در ریاضیپژوهش اسلامی، واحد علوم و تحقیقات دانشگاه آزاد                                                                                                   

http://jnrm.srbiau.ac.ir/


 

 

 

 

 

 

 

 

 

     

      

    

   

 -

    .   

      

       .

 

 

.

 

 

-:

𝑓(𝑥) 

𝑓(𝑥) 𝜖 𝐶𝛼(𝑎, 𝑏)𝑓(𝑥)

α𝑥 = 𝑥0 

𝐷𝑥
𝛼𝑓(𝑥0) =

𝑑𝛼

𝑑𝑥𝛼 𝑓(𝑥) | 𝑥=𝑥0  

 = 𝑓𝛼(𝑥0) = lim
𝑥→𝑥0

∆𝛼(𝑓(𝑥)−𝑓(𝑥0))

(𝑥−𝑥0)𝛼                



 

 
 

   

 

∆𝛼(𝑓(𝑥) − 𝑓(𝑥0)) ≅  

Γ(𝛼 + 1)(𝑓(𝑥) − 𝑓(𝑥0))  

𝑓(𝑥) ∈  𝐷𝑥
𝛼(𝑎, 𝑏)  

[𝑎, 𝑏](𝑡𝑗 , 𝑡𝑗+1)  

𝑗 = 0,1, … , 𝑁 − 1 𝑡𝑁 = 𝑏, 𝑡0 = 𝑎, ∆𝑡𝑗 =

𝑡𝑗+1 − 𝑡𝑗∆𝑡 = 𝑚𝑎𝑥{∆𝑡0 , ∆𝑡1, … } 

  

𝑓(𝑥) ∈ 𝐶𝛼(𝑎, 𝑏)  

𝑓(𝑥)α

[𝑎, 𝑏] 

𝐼𝑏
(𝛼)

𝑎 𝑓(𝑥) = 

1

Γ(1 + 𝛼)
∫ 𝑓(𝑡)

𝑏

𝑎

(𝑑𝑡)𝛼 =

1

Γ(1+𝛼)
lim

Δ𝑡→0
∑ 𝑓(𝑡𝑗)(∆𝑡𝑗)

𝛼𝑁−1
𝑗=0                   

𝑥 ∈ (𝑎, 𝑏)𝐼𝑥
(𝛼)

𝑓(𝑥)𝑎

𝑓(𝑥) ∈  𝐼𝑥
(𝛼)

(𝑎, 𝑏)

𝐼𝑎
(𝛼)

𝑓(𝑥) = 0, 𝐼𝑏
(𝛼)

𝑓(𝑥) = − 𝐼𝑎
(𝛼)

𝑓(𝑥)𝑏𝑎𝑎 

 

𝑓(𝑥) 

α[𝑎, 𝑏] 

𝑓(𝑥) 

 Mittag- Leffler 

𝐸𝛼: 𝑅 → 𝑅𝑥 → 𝐸𝛼(𝑥) 

𝐸𝛼(𝑥) = ∑
𝑥𝑘

Γ(1+𝑘𝛼)
   ,∞

𝑘=0

0 < 𝛼 ≤ 1  

 

 

𝐸𝛼(𝑥𝛼) = 

∑
𝑥𝑘𝛼

Γ(1+𝑘𝛼)
 ,0 < 𝛼 ≤ 1∞

𝑘=0     

𝐸𝛼(𝑖𝛼𝑥𝛼) =
𝑐𝑜𝑠𝛼(𝑥𝛼) + 𝑖𝛼𝑠𝑖𝑛𝛼(𝑥𝛼)

𝑐𝑜𝑠𝛼(𝑥𝛼) =  

∑ (−1)𝑘 𝑥2𝑘𝛼

Γ(1+2𝑘𝛼)
∞
𝑘=0     

𝑠𝑖𝑛𝛼𝑥𝛼 = ∑ (−1)𝑘 𝑥𝛼(2𝑘+1)

Γ(1+𝛼(2𝑘+1))
∞
𝑘=0      

 

  

𝐼0 𝜉
(𝛼)

𝐸𝛼(𝜉𝛼) = 𝐸𝛼(𝜉𝛼) − 1 
𝑑𝛼

𝑑𝜉𝛼 𝐸𝛼(𝜉𝛼) = 𝐸𝛼(𝜉𝛼) 

𝐼0 𝜉
(𝛼)

(
𝜉𝑛𝛼

Γ(1+𝑛𝛼)
) =  

𝜉(𝑛+1)𝛼

Γ(1+(𝑛+1)𝛼)
, 𝑛 ∈ ℵ 

𝑑𝛼

𝑑𝜉𝛼 (
𝜉𝑛𝛼

Γ(1+𝑛𝛼)
) = 

𝜉(𝑛−1)𝛼

Γ(1+(𝑛−1)𝛼)
, 𝑛 ∈ ℵ 

𝐼0 𝜉
(𝛼)

𝑐𝑜𝑠𝛼(𝜉𝛼) = 𝑠𝑖𝑛𝛼(𝜉𝛼) 𝑑𝛼

𝑑𝜉𝛼 𝑐𝑜𝑠𝛼(𝜉𝛼) = −𝑠𝑖𝑛𝛼(𝜉𝛼) 

𝐼0 𝜉
(𝛼)

𝑠𝑖𝑛𝛼(𝜉𝛼) = 1 − 𝑐𝑜𝑠𝛼(𝜉𝛼) 
𝑑𝛼

𝑑𝜉𝛼 𝑠𝑖𝑛𝛼(𝜉𝛼) = 𝑐𝑜𝑠𝛼(𝜉𝛼) 



 

 

 

𝑓(𝑥) ∈  𝐶𝛼(0, ∞)-

𝑓 

ℒ𝛼{𝑓(𝑥)} =  𝑓𝑠
𝑙,𝛼(𝑠) =  

1

Γ(1+𝛼)
∫ 𝐸𝛼(−𝑠𝛼𝑥𝛼)𝑓(𝑥)(𝑑𝑥)𝛼∞

0
           

0 < 𝛼 ≤ 1 , 𝑠𝛼 ∈ 𝑅𝛼

1

𝛤(1+𝛼)
∫ |𝑓(𝑥)|(𝑑𝑥)𝛼 < 𝑘 <  ∞

∞

0

ℒ𝛼{𝑓(𝑥)} ≡ 𝑓𝑠
𝑙,𝛼(𝑠)

-

𝑓(𝑡) = ℒ𝛼
−1 (𝑓𝑠

𝑙,𝛼(𝑠)) =  

1

(2𝜋)𝛼 ∫ 𝐸𝛼(𝑠𝛼𝑥𝛼)𝑓𝑠
𝑙,𝛼(𝑠)(𝑑𝑠)𝛼𝛽+𝑖𝜔

𝛽−𝑖𝜔
, 

𝑥 > 0  

𝑠𝛼 = 𝛽𝛼 + 𝑖𝛼𝜔𝛼𝑖𝛼

𝑅𝑒(𝑠) = 𝛽 > 00 < 𝛼 ≤ 1  

 

ℒ𝛼{𝑓(𝑥)} = 𝑓𝑠
𝑙,𝛼(𝑠)

ℒ𝛼{𝑔(𝑥)} =  𝑔𝑠
𝑙,𝛼(𝑠) 

ℒ𝛼{𝑎𝑓(𝑥) + 𝑏𝑔(𝑥)} =  

𝑎𝑓𝑠
𝑙,𝛼 + 𝑏𝑔𝑠

𝑙,𝛼                                 

ℒ𝛼{𝐸𝛼(𝑐𝛼𝑥𝛼)𝑓(𝑥)} =  

𝑓𝑠
𝑙,𝛼(𝑠 − 𝑐)  

ℒ𝛼{𝑓(𝛼)(𝑥)} = 𝑠𝛼𝑓𝑠
𝑙,𝛼(𝑠) − 𝑓(0)

ℒ𝛼{𝐸𝛼(𝑎𝛼𝑥𝛼)} =
1

𝑠𝛼−𝑎𝛼  

ℒ𝛼{𝑥𝑘𝛼} =  
Γ(1+𝑘𝛼)

𝑠(𝑘+1)𝛼

ℒ𝛼{𝑠𝑖𝑛𝛼(𝑎𝛼𝑥𝛼)} =
𝑎𝛼

𝑠2𝛼+𝑎2𝛼  

 

 

 

 

 

 

𝐼(𝑦) = 𝐼𝑏
(𝛼)

𝑓(𝑥, 𝑦(𝑥), 𝑦𝛼(𝑥))𝑎               

𝑦(𝛼)(𝑥) 

 𝑎 ≤ 𝑥 ≤ 𝑏 

𝜕𝑓

𝜕𝑦
− 

𝑑𝛼

𝑑𝑥𝛼
(

𝜕𝑓

𝜕𝑦(𝛼)) = 0  

 

𝐿(𝑚𝛼)(𝑥‚𝑡) + 𝑅𝛼𝑢(𝑥‚𝑡) + 𝑁𝛼𝑢(𝑥‚𝑡)  

= 𝑓(𝑥‚𝑡), 𝑡 > 0 ‚  

𝑥 ∈ ℝ ‚0 < 𝛼 ≤            

𝐿(𝑚𝛼) =
𝜕(𝑚𝛼)

𝜕𝑡(𝑚𝛼) 𝑚 ∈ 𝑁 𝑅𝛼 

𝑁𝛼

𝑓(𝑥, 𝑡)



 

 
 

   

𝑢𝑛+1(𝑥‚𝑡) = 𝑢𝑛

+ ∫ {
𝜆𝛼

Γ(𝛼+1)
(𝐿(𝑚𝛼)𝑢𝑛(𝑥‚𝜏) +

𝑡

0

𝑅𝛼𝑢𝑛(𝑥‚𝜏) + 𝑁𝛼𝑢𝑛(𝑥‚𝜏) −

𝑓(𝑥‚𝜏))} (𝑑𝜏)𝛼

𝑢𝑛+1(𝑥, 𝑡) = 𝑢𝑛(𝑥, 𝑡)  

+ ∫ {
𝜆𝛼

Γ(𝛼+1)
(𝐿(𝑚𝛼)𝑢𝑛(𝑥‚𝜏) +

𝑡

0

𝑅𝛼 �̃�𝑛(𝑥‚𝜏) + 𝑁𝛼�̃�𝑛(𝑥‚𝜏) −

𝑓(𝑥‚𝜏))} (𝑑𝜏)𝛼    

�̃�𝑛

𝛿𝛼�̃�𝑛 = 0𝜆𝛼

𝜆𝛼

𝜆𝛼

𝜆𝛼 = (−1)𝑚 (𝜏−𝑡)(𝑚−1)𝛼

Γ(1+(𝑚−1)𝛼)
    

 

𝑢𝑛+1(𝑥‚𝑡) = 𝑢𝑛(𝑥‚𝑡) +

𝐼0 𝑡
(𝛼)

{
(−1)𝑚(𝜏−𝑡)(𝑚−1)𝛼

Γ(1+(𝑚−1)𝛼)
(𝐿(𝑚𝛼)𝑢𝑛(𝑥‚𝜏) +

𝑅𝛼 �̃�𝑛(𝑥‚𝜏) + 𝑁𝛼�̃�𝑛(𝑥‚𝜏) − 𝑓(𝑥‚𝜏))}    

𝑢0(𝑥, 𝑡)𝑢(𝑥, 0)

𝑛 → ∞

𝑢(𝑥‚𝑡) = lim
𝑛→∞

𝑢𝑛(𝑥‚𝑡)  

-

 

𝐿𝛼𝑢(𝑥, 𝑡) + 𝑅𝛼𝑢(𝑥, 𝑡) + 𝑁𝛼𝑢(𝑥, 𝑡) =
𝑓(𝑥, 𝑡),
𝑡 > 0 , 𝑥 ∈ 𝑅 , 0 < 𝛼 ≤ 1                          

 

 𝐿𝛼 =
𝜕𝛼

𝜕𝑡𝛼𝑅𝛼

𝑁𝛼𝑓(𝑥, 𝑡)

-

ℒ𝛼

ℒ𝛼{𝐿𝛼𝑢(𝑥, 𝑡)} + ℒ𝛼{𝑅𝛼𝑢(𝑥, 𝑡)} +
ℒ𝛼{𝑁𝛼𝑢(𝑥, 𝑡)} = ℒ𝛼𝑓(𝑥, 𝑡)  

 

 

  𝑠𝛼ℒ𝛼{𝑢(𝑥, 𝑡)} − 𝑢(𝑥, 0) =
 ℒ𝛼{𝑓(𝑥, 𝑡)} − ℒ𝛼{𝑅𝛼𝑢(𝑥, 𝑡)} −
ℒ𝛼{𝑁𝛼𝑢(𝑥, 𝑡)}                      

 

 ℒ𝛼{𝑢(𝑥, 𝑡)} =
1

𝑠𝛼 𝑢(𝑥, 0) +
1

𝑠𝛼 ℒ𝛼{𝑓(𝑥, 𝑡)} −
1

𝑠𝛼 ℒ𝛼{𝑅𝛼𝑢(𝑥, 𝑡)}  −
1

𝑠𝛼 ℒ𝛼{𝑁𝛼𝑢(𝑥, 𝑡)}                                        

𝑢(𝑥, 𝑡) = 𝑢(𝑥, 0) +

ℒ𝛼
−1 [

1

𝑠𝛼 ℒ𝛼{𝑓(𝑥, 𝑡)} −
1

𝑠𝛼 ℒ𝛼{𝑅𝛼𝑢(𝑥, 𝑡)} −
1

𝑠𝛼 ℒ𝛼{𝑁𝛼𝑢(𝑥, 𝑡)}]     

𝜕𝛼

𝜕𝑡𝛼 

𝑢𝑡
𝛼(𝑥, 𝑡) −

𝜕𝛼

𝜕𝑡𝛼 ℒ𝛼
−1 [

1

𝑠𝛼 ℒ𝛼{𝑓(𝑥, 𝑡)} −
1

𝑠𝛼 ℒ𝛼{𝑅𝛼𝑢(𝑥, 𝑡)} −
1

𝑠𝛼 ℒ𝛼{𝑁𝛼𝑢(𝑥, 𝑡)}] −

𝑢𝑡
𝛼(𝑥, 0) = 0                                 



 

 

 

 

 𝑢𝑛+1(𝑥, 𝑡) =                                                      

𝑢𝑛(𝑥, 𝑡) −
1

Γ(𝛼+1)
∫ ((𝑢𝑛)𝜉

𝛼(𝑥, 𝜉) −
𝑡

0

𝜕𝛼

𝜕𝜉𝛼 ℒ𝛼
−1 [

1

𝑠𝛼 ℒ𝛼{𝑓(𝑥, 𝜉} −

1

𝑠𝛼 ℒ𝛼{𝑅𝛼𝑢𝑛(𝑥, 𝜉)} −

1

𝑠𝛼 ℒ𝛼{𝑁𝛼𝑢𝑛(𝑥, 𝜉)}] (𝑢𝑛)𝜉
𝛼(𝑥, 0)) (𝑑𝜉)𝛼  

 

 𝑢(𝑥, 0)𝑢(𝑥, 𝑡)

𝑢(𝑥, 𝑡) =  lim
𝑛→∞

𝑢𝑛(𝑥, 𝑡)                             

 

  

 

𝜕𝛼𝑢(𝑥,𝑡)

𝜕𝑡𝛼 −
𝜕2𝛼𝑢(𝑥,𝑡)

𝜕𝑥2𝛼 = 0 ,  

 𝑢(𝑥, 0) =
𝑥𝛼

Γ(1+𝛼)
 ,   

0 < 𝛼 ≤ 1 .                                                    

 

𝑠𝛼ℒ𝛼{𝑢(𝑥, 𝑡)} − 𝑢(𝑥, 0)

= ℒ𝛼 {
𝜕2𝛼𝑢(𝑥,𝑡)

𝜕𝑥2𝛼 } ⟹

ℒ𝛼{𝑢(𝑥, 𝑡)} =
1

𝑠𝛼 𝑢(𝑥, 0) +

1

𝑠𝛼 ℒ𝛼 {
𝜕2𝛼𝑢(𝑥,𝑡)

𝜕𝑥2𝛼 }  

𝑢(𝑥, 𝑡) = 𝑢(𝑥, 0) +

 ℒ𝛼
−1 {

1

𝑠𝛼 ℒ𝛼 {
𝜕2𝛼𝑢(𝑥,𝑡)

𝜕𝑥2𝛼 }}  

 

𝑢(𝑥, 𝑡) =
𝑥𝛼

Γ(𝛼+1)
+

ℒ𝛼
−1 {

1

𝑠𝛼 ℒ𝛼 {
𝜕2𝛼𝑢(𝑥,𝑡)

𝜕𝑥2𝛼 }}   

𝜕𝛼

𝜕𝑡𝛼 

𝑢𝑡
𝛼(𝑥, 𝑡) −

𝜕𝛼

𝜕𝑡𝛼 {ℒ𝛼
−1 [

1

𝑠𝛼 ℒ𝛼 {
𝜕2𝛼𝑢(𝑥,𝑡)

𝜕𝑥2𝛼 }]}  

= 0                                                                         

𝑢𝑛+1(𝑥, 𝑡) =                                                       

𝑢𝑛(𝑥, 𝑡) −
1

Γ(1+𝛼)
∫ [(𝑢𝑛)𝜉

𝛼(𝑥, 𝜉) −
𝑡

0

𝜕𝛼

𝜕𝜉𝛼 {ℒ𝛼
−1 [

1

𝑠𝛼 ℒ𝛼{(𝑢𝑛)𝑥
2𝛼(𝑥, 𝜉)}]}] (𝑑𝜉)𝛼

𝑢0(𝑥, 𝑡) = 𝑢(𝑥, 0) =
𝑥𝛼

Γ(1+𝛼)
                     

𝑢1 

𝑢1(𝑥, 𝑡) = 𝑢0(𝑥, 𝑡) −
1

Γ(𝛼+1)
∫ [(𝑢0)𝜉

𝛼(𝑥, 𝜉) −
𝑡

0

𝜕𝛼

𝜕𝜉𝛼 {ℒ𝛼
−1 [

1

𝑠𝛼 ℒ𝛼{(𝑢0)𝑥
2𝛼(𝑥, 𝜉)}]}] (𝑑𝜉)𝛼

𝑢1(𝑥, 𝑡) =
𝑥𝛼

Γ(𝛼+1)
+

1

Γ(𝛼+1)
 

∫
𝜕𝛼

𝜕𝜉𝛼

𝑡

0
{ℒ𝛼

−1 [
1

𝑠𝛼 ℒ𝛼 {(
𝑥𝛼

Γ(𝛼+1)
)

𝑥

2𝛼

}]} (𝑑𝜉)𝛼 =

𝑥𝛼

Γ(𝛼+1)
 



 

 
 

   

𝑢2(𝑥, 𝑡) =
𝑥𝛼

Γ(𝛼+1)
−

1

Γ(1+𝛼)
∫

𝜕𝛼

𝜕𝜉𝛼
{ℒ𝛼

−1 [
1

𝑠𝛼 ℒ𝛼 {(
𝑥𝛼

Γ(𝛼+1)
)

𝑥

2𝛼

}]} (𝑑𝜉)𝛼 =
𝑡

0

𝑥𝛼

Γ(1+𝛼)
  

𝑢𝑛(𝑥, 𝑡) =
𝑥𝛼

Γ(𝛼+1)
     

lim
𝑛→∞

𝑢𝑛(𝑥, 𝑡) =
𝑥𝛼

Γ(𝛼+1)
        

𝜕𝛼𝑢(𝑥,𝑡)

𝜕𝑡𝛼 + 𝑖
𝜕2𝛼𝑢(𝑥,𝑡)

𝜕𝑥2𝛼 = 0 , 

𝑢(𝑥, 0) = 𝐸𝛼(𝑥𝛼).                        

 

𝑠𝛼ℒ𝛼{𝑢(𝑥, 𝑡)} − 𝑢(𝑥, 0) =

−𝑖ℒ𝛼 {
𝜕2𝛼𝑢(𝑥,𝑡)

𝜕𝑥2𝛼 }  

ℒ𝛼{𝑢(𝑥, 𝑡)} =
1

𝑠𝛼 𝑢(𝑥, 0) −

𝑖

𝑠𝛼 ℒ𝛼 {
𝜕2𝛼𝑢(𝑥,𝑡)

𝜕𝑥2𝛼 }  

 

𝑢(𝑥, 𝑡) = 𝑢(𝑥, 0) −

ℒ𝛼
−1 {

𝑖

𝑠𝛼 ℒ𝛼 {
𝜕2𝛼𝑢(𝑥,𝑡)

𝜕𝑥2𝛼 }}  

 

𝑢(𝑥, 𝑡) = 𝐸𝛼(𝑥𝛼) −

𝑖 ℒ𝛼
−1 {

1

𝑠𝛼 ℒ𝛼 {
𝜕2𝛼𝑢(𝑥,𝑡)

𝜕𝑥2𝛼 }}         

 
𝜕𝛼

𝜕𝑡𝛼

 

𝑢𝑡
𝛼(𝑥, 𝑡) + 𝑖

𝜕𝛼

𝜕𝑡𝛼 ℒ𝛼
−1 {

1

𝑠𝛼 ℒ𝛼 {
𝜕2𝛼𝑢(𝑥,𝑡)

𝜕𝑥2𝛼 }}  

= 0  

𝑢𝑛+1(𝑥, 𝑡) = 𝑢𝑛(𝑥, 𝑡) −

1

Γ(𝛼+1)
∫ [(𝑢𝑛)𝜉

𝛼(𝑥, 𝜉) +
𝑡

0

𝑖
𝜕𝛼

𝜕𝜉𝛼 ℒ𝛼
−1 {

1

𝑠𝛼 ℒ𝛼 {
𝜕2𝛼𝑢𝑛(𝑥,𝜉)

𝜕𝑥2𝛼 }}] (𝑑𝜉)𝛼   

𝑢0(𝑥, 𝑡) = 𝑢(𝑥, 0) = 𝐸𝛼(𝑥𝛼)  

𝑢1 

𝑢1(𝑥, 𝑡) = 𝑢0(𝑥, 𝑡) −

1

Γ(𝛼+1)
∫ [(𝑢0)𝜉

𝛼(𝑥, 𝜉) +
𝑡

0

𝑖
𝜕𝛼

𝜕𝜉𝛼 ℒ𝛼
−1 {

1

𝑠𝛼 ℒ𝛼 {
𝜕2𝛼𝑢0(𝑥,𝜉)

𝜕𝑥2𝛼 }}] (𝑑𝜉)𝛼   

= 𝐸𝛼(𝑥𝛼) −
1

Γ(𝛼+1)
∫ [𝑖

𝜕𝛼

𝜕𝜉𝛼
(𝐸𝛼(𝑥𝛼)ℒ𝛼

−1 {
1

𝑠2𝛼})] (𝑑𝜉)𝛼𝑡

0
  

= 𝐸𝛼(𝑥𝛼) [1 −

𝑖

Γ(𝛼+1)
∫

𝜕𝛼

𝜕𝜉𝛼
(

𝜉𝛼

Γ(1+𝛼)
)

𝑡

0
(𝑑𝜉)𝛼]  

𝑢1(𝑥, 𝑡) = 𝐸𝛼(𝑥𝛼) [1 −
𝑖𝑡𝛼

Γ(𝛼+1)
]              

 

𝑢2(𝑥, 𝑡) = 𝑢1(𝑥, 𝑡) −

1

Γ(𝛼+1)
∫ [(𝑢1)𝜉

𝛼(𝑥, 𝜉) +
𝑡

0

𝑖
𝜕𝛼

𝜕𝜉𝛼 ℒ𝛼
−1 {

1

𝑠𝛼 ℒ𝛼 {
𝜕2𝛼𝑢1(𝑥,𝜉)

𝜕𝑥2𝛼 }}] (𝑑𝜉)𝛼  

𝑢2(𝑥, 𝑡) = 𝐸𝛼(𝑥𝛼) [1 −
𝑖𝑡𝛼

Γ(𝛼+1)
] −

1

Γ(𝛼+1)
∫ [−𝑖𝐸𝛼(𝑥𝛼) +

𝑡

0



 

 

 

𝑖
𝜕𝛼

𝜕𝜉𝛼 ℒ𝛼
−1 {

1

𝑠𝛼 ℒ𝛼 {𝐸𝛼(𝑥𝛼) (1 −

𝑖𝜉𝛼

Γ(𝛼+1)
)}}] (𝑑𝜉)𝛼  

𝑢2(𝑥, 𝑡) = 𝐸𝛼(𝑥𝛼)  

[1 −
𝑖𝑡𝛼

Γ(𝛼+1)
−

𝑖

Γ(𝛼+1)
∫ (−1 +

𝑡

0

𝜕𝛼

𝜕𝜉𝛼 ℒ𝛼
−1 {

1

𝑠𝛼
(

1

𝑠𝛼 −
𝑖

𝑠2𝛼
)}) (𝑑𝜉)𝛼]  

= 𝐸𝛼(𝑥𝛼) [1 −
𝑖𝑡𝛼

Γ(1+𝛼)
+

𝑖𝑡𝛼

Γ(1+𝛼)
−

𝑖

Γ(1+𝛼)
∫

𝜕𝛼

𝜕𝜉𝛼
(

𝜉𝛼

Γ(1+𝛼)
−

𝑖𝜉2𝛼

Γ(1+2𝛼)
) (𝑑𝜉)𝛼𝑡

0
]  

𝑢2(𝑥, 𝑡) = 𝐸𝛼(𝑥𝛼) [1 −
𝑖𝑡𝛼

Γ(1+𝛼)
+

𝑖2𝑡2𝛼

Γ(1+2𝛼)
]       

𝑢𝑛(𝑥, 𝑡) = 𝐸𝛼(𝑥𝛼) ∑
(−𝑖𝑡)𝑘𝛼

Γ(1+𝑘𝛼)
𝑛
𝑘=0  

lim
𝑛→∞

𝑢𝑛(𝑥, 𝑡) =

lim
𝑛→∞

𝐸𝛼(𝑥𝛼) ∑
(−𝑖𝑡)𝑘𝛼

Γ(1+𝑘𝛼)
=𝑛

𝑘=0

𝐸𝛼(𝑥𝛼) 𝐸𝛼((−𝑖𝑡)𝛼)  
= 𝐸𝛼((𝑥 − 𝑖𝑡)𝛼)          

. 

 

Kdv

  

𝜕𝛼𝑢

𝜕𝑡𝛼 − 𝑢
𝜕𝛼𝑢

𝜕𝑥𝛼 +
𝜕3𝛼𝑢

𝜕𝑥3𝛼 = 0    

𝑢(𝑥‚0) =  
𝑥𝛼

Γ(𝛼+1)
 

 

𝑠𝛼ℒ𝛼{𝑢(𝑥‚𝑡)} − 𝑢(𝑥‚0) 

= ℒ𝛼 {𝑢
𝜕𝛼𝑢(𝑥‚𝑡)

𝜕𝑥𝛼 −
𝜕3𝛼𝑢(𝑥‚𝑡)

𝜕𝑥3𝛼 }  

  

ℒ𝛼{𝑢(𝑥‚𝑡)} =
1

𝑠𝛼

𝑥𝛼

Γ(𝛼+1)
+

1

𝑠𝛼 ℒ𝛼 {𝑢(𝑥‚𝑡)
𝜕𝛼𝑢(𝑥‚𝑡)

𝜕𝑥𝛼 −
𝜕3𝛼𝑢(𝑥‚𝑡)

𝜕𝑥3𝛼 }  

 

𝑢(𝑥‚𝑡) =
𝑥𝛼

Γ(𝛼+1)
+

ℒ𝛼
−1 {

1

𝑠𝛼 ℒ𝛼 [𝑢(𝑥‚𝑡)
𝜕𝛼𝑢(𝑥‚𝑡)

𝜕𝑥𝛼 −

𝜕3𝛼𝑢(𝑥‚𝑡)

𝜕𝑥3𝛼 ]}       

 
𝜕𝛼

𝜕𝑡𝛼

  
𝜕𝛼𝑢(𝑥‚𝑡)

𝜕𝑡𝛼 −
𝜕𝛼

𝜕𝑡𝛼 [ℒ𝛼
−1 {

1

𝑠𝛼 ℒ𝛼 [𝑢(𝑥‚𝑡)
𝜕𝛼𝑢(𝑥‚𝑡)

𝜕𝑥𝛼 −

𝜕3𝛼𝑢(𝑥‚𝑡)

𝜕𝑥3𝛼 ]}] = 0                                             

 

 

 𝑢𝑛+1(𝑥‚𝑡) = 𝑢𝑛(𝑥‚𝑡) −
1

Γ(𝛼+1)
∫ {(𝑢𝑛)𝜉

𝛼(𝑥‚𝜉) −
𝑡

0

𝜕𝛼

𝜕𝜉𝛼 [ℒ𝛼
−1 (

1

𝑠𝛼 ℒ𝛼 [𝑢(𝑥‚𝜉)
𝜕𝛼𝑢(𝑥‚𝜉)

𝜕𝑥𝛼 −

𝜕3𝛼𝑢(𝑥‚𝜉)

𝜕𝑥3𝛼    ])]} (𝑑𝜉)𝛼

 

𝑢0(𝑥‚𝑡) = 𝑢(𝑥‚0) =
𝑥𝛼

Γ(𝛼+1)
   ,

 0 ≤ 𝛼 ≤ 1  

 

𝑢1(𝑥‚𝑡) = 𝑢0(𝑥‚𝑡) −
1

Γ(𝛼+1)
∫ {(𝑢0)𝜉

𝛼(𝑥‚𝜉) −
𝑡

0

𝜕𝛼

𝜕𝜉𝛼 [ℒ𝛼
−1 (

1

𝑠𝛼 ℒ𝛼 [𝑢0(𝑥‚𝜉)
𝜕𝛼𝑢0(𝑥‚𝜉)

𝜕𝑥𝛼 −

𝜕3𝛼𝑢0(𝑥‚𝜉)

𝜕𝑥3𝛼 ])]} (𝑑𝜉)𝛼  



 

 
 

   

=
𝑥𝛼

Γ(𝛼+1)
+

1

Γ(𝛼+1)
∫

𝜕𝛼

𝜕𝜉𝛼 [ℒ𝛼
−1 (

1

𝑠𝛼 ℒ𝛼 [
𝑥𝛼

Γ(𝛼+1)
])]

𝑡

0
(𝑑𝜉)𝛼   

𝑢1(𝑥‚𝑡) =
𝑥𝛼

Γ(𝛼+1)
(

𝑡𝛼

Γ(𝛼+1)
+ 1)  

𝑢2(𝑥‚𝑡) = 𝑢1(𝑥‚𝑡) −
1

Γ(𝛼+1)
∫ {(𝑢1)𝜉

𝛼(𝑥‚𝜉) −
𝑡

0

𝜕𝛼

𝜕𝜉𝛼 [ℒ𝛼
−1 (

1

𝑠𝛼 ℒ𝛼 [𝑢1(𝑥‚𝜉)
𝜕𝛼𝑢1(𝑥‚𝜉)

𝜕𝑥𝛼 −

𝜕3𝛼𝑢1(𝑥‚𝜉)

𝜕𝑥3𝛼  ])]} (𝑑𝜉)𝛼  

𝑢2(𝑥‚𝑡) =
𝑥𝛼

Γ(1+𝛼)
(

𝑡𝛼

Γ(1+𝛼)
+ 1) −

1

Γ(1+𝛼)
∫ [

𝑥𝛼

Γ(1+𝛼)
−

𝑥𝛼

Γ(1+𝛼)
(

𝜉𝛼

Γ(1+𝛼)
+

𝑡

0

1)
2

] (𝑑𝜉)𝛼  

𝑢2(𝑥‚𝑡) =
𝑥𝛼

Γ(1+𝛼)
(1 +

𝑡𝛼

Γ(1+𝛼)
+

2𝑡2𝛼

Γ(1+2𝛼)
+

𝑡3𝛼

Γ(1+3𝛼)

Γ(1+2𝛼)

Γ2(1+𝛼)
)                                          

𝑛 → ∞

𝑛 → ∞ 
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